109 Z4E e S #1H6E ) 355
EHBBEGAE (A )
%

AREE B P HE— —fm

(EZiEES

lllnl
|
it

#REFR 1100 548

A :
® FEAk6M
o s
o EyAL T

VEAF R BEEEAERZIZEZEM T

3 bR AR AR AR AR ) Rl ER BB X S
FRAMARRE R Z BB XA E -

MIFIM I TR A B RS

\\

) W HE P A
'ﬂ 2 BAEP




WEA I F | BAEE 6 M BAAAK S5 EERER > HPRHF— 41@1-_57&&&3@%3
IR FEAERENERZBLZEMFY - £RAZHE 15 5 o B4
RELARERX LN —EEERE > ZAUALESHE -

( )1 ~FHn= 10g210g2\/ CAIEE  ZERM? (D-3 @1 32 #H3 (58

()2~ AfESEE o O BB 0 RFE=SIRA > P(—6,x) B0438 - —8 > HoP=+6l > Hi

wo=2 My @-7 O-2 @ O

(B #xyeR Hyxr-27+(+37) —y(x+tan37° +(y—0.57 =0 » B (x, ») LRI BT

R (DIEE OBE  QEK @GEHGE Ok

()4~ AR > O BJEEL » B4 AG,—1), B(L2) » EC(x,) R OC =« OA+ BOB Hrf
a,f REEHa+ =1 5\HE0EC ey T E R 2
()x+2y=16 ()3x+2y=7 (3)2x+3y=9 @)2x—y=16 (5)2x-3y=9

()5~ FIFHEG PR AE R TR 2y A I Z SR T - 5 e B P S Rl - (A0

cw{J%z»buL}az~mwzu{}%z ﬁ%@me{°111%z i
M - B T RS B L ST A T A IR A T TR S

:%E@B=F_j}u?{;2}*ﬁﬂﬂﬂ0A& R BRI A

8 13 14
E$|:20 32 35:| » HIJREEF Byfal 2 (D)cat  (2)cow (3)dog (4)pig (5)fox



( )6 FxyzcR - ;\%E{3x+2y+z=0 Hoayz#0 0 ?5x+y+522ﬁ/%@?
2x—y—-z=0 +3y—z
1 1
(1)5 ()5 (3)—5 (4)—4 (5)_Z
o ZEERE (5 35 1)
WA F T HBEF 138 HBHAA S BER AVESAH —EAALHEWE ié ;1%
BEBANBRZIAEZMTY - A ERBILH T > ﬁﬁﬁ RIRM B E
s Ak 1 EEREIF 3 5 B4 2 BEEREOF D 505 ﬁ»’*yﬁ’\‘Q’fl
BRARTAERHRMELE > ZARAUENHE -
( )7~ RHIEE T BRI > WIPLE TEAE?
(OEEEEEH v, x£21M5 » f(x)=x-1 +$ HIME R AR BT 3
QHEHEEIFEEEME > f(x)=x"+1 +x—12 HIME R AR BT 3
GEHIEEEE TS > /(%) =2x" +4x + 4EE K EER 3
DEHEBEE XIS » f(x)=3(x-2)" +33IER AR 3
OEEEEH S > () =2"+ 2HEE AT EER 3
( )8 ~ NHIREAHEL - I A LA =P =5 ?
(H1,2,3 (2)2,3,4 (3)2,3,5 4)3,4,5 (5)3,4,7
x-2y+z=a
( )9~ ERIJTIR4H  x—9y+52=b - AINHIHMESZETE  a,b,c AIELLTTR24HA A% ?
2x+3y-2z=c
1 1 1
(Ma=1,b=2,c=3 2)a=4,b=5,c=6 (3)a—g b—g =%
(4)a=%,b=%,c:% (5)a=20,b=30,c =30




( )10 ~ G2t NBA BRI/ 575 ST 785 1SS R B 43 e
FERRE (X)) 30 | 36 | 32 | 40 | 27
57 (V) 18 | 26 | 25 | 31 | 20
(O EMIE AT I B 33
Q)RS T P54 8 B 25
OB T - AR i 4
<®wﬁﬁﬂ%&gﬁﬂyﬁxm@%ﬁﬁ%y:%»fg
(5 IS B R I 155 33 4348 » TRV M o] LU 25 43

( ML~ 35 f(x) BHEGRER | N=REGRBSHA > H/D=L/2)=2/5)=5"HI
f(x)=0FE THIWP —(EEe 8 L. E A ER 2
(D-1820 (20821 (31812 (42813 (53814

( )12~ IR A TER T » B RS IR0 2 B2
Uﬁﬁmmmomﬁzﬁé @%ﬁﬁ%9%%$%%

QEVE B R 29_116 (4 A AR T RE B [F A% By %

@%ﬁ&%ﬁ%ﬂ%%%&é

( M3~ FHE=ZEHGR (a-Dx+2y=3,3x+ay=52x+y=3 > Hfta HEH > HF=HE
HER—EA=AF > lla ZER

-6 2)-3 ()0 m% G%



FHEER T ¢ BEEEGS 35 77)

WA 1LEAZGHA BEEHENERZILEMT -
QEARTEZHLS 5o BRI ARREEHRL S ©

A~ FEE 7B RLIKS Ry R — YRR E LR SURIERE Ry d 1 > Wi R ERdhpi 60° - Al -
(1) & W & R Bl = B A > FEEEE o (hd =)
() WA Rh e ATy > FLREREE Ry ° (LLd Fm)

=
28

B~ KLy fE AR LT E 20 7 EI’JTA%+E— S E] 30 7 EI’JTA%+E—  BA—E 20 HEE
JERE > RIHTEEIEE] 30 BRUMR °

C  ERGHOITIER ax” + br + 41 = OFITTIR B M FRAVRS - Hoa> 0.6 <0 » Hllb =

D~ EFMEATRESE T/NE RAVRER R RS P6)=7 g o e RIFECK) > ek Ry
8 ERIAA 20 B/NH R > 60 KIRH 45 %/J\El% EJJ 120 Ri&EH ShER -

(U AZERED



- sin@ ftan 0 —sin@
E ~ 5 : . e o
L 1—cos@ \tand+sind

F~ S E 570138 x, y, z §lIE[EY A, B, C =85> H PG,L2)E E | %5 O FJREL > Hi
304 +40B+20C HE/Md o

4
G~ #x,y BEY %A{x 5} P H AP -74-181=0 > Hllx=  y=
Yy



SR

i

FEsy - BEEE (G 65 1)

BEEE (5 30 43)
D

1 3 4 5 6
— -~ ZEE (b 35 41)
7 8 9 10 11 12 13

FEEy © BHEE (& 35 4)

A B C
D E I
G




